SKYTEM APS


Setup parametre
Configuration:

The waveform has been measured as I(t).
The current varies depending on the outdoor temperature and the length of the 
Z and X component receiver coils both placed in null position (“central loop”)
The Z coil has an offset of 1,91 m above the transmitter loop
The X coil is placed in the same plane as the transmitter loop
One laser altimeter placed on both sides of the frame
The inclination of the frame is measured in the flight direction and the perpendicular Two independent gps’s mounted 13 m above the frame. The coordinates are in Lat/Lon WGS84. 
Data:

Measured as dB/dt 
Not normalized by the transmitter area, nturns and the current
The data has been corrected due to variations in the angle.
The data are measured as 10 ms ontime and 10 ms off time. 
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Figur 5 The frame 
Transmitter loop
The transmitter loop consists of 4 turns in a 283 m2 loop. The corners of the transmitter loop can be described as follows:
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Gate 
Gate start  
Gate center  
Gate width


No
sec

sec

sec

1
3.66E-06  
5.47E-06  
3.63E-06
(not used)

2
1.01E-05  
1.18E-05  
3.63E-06
LM
3
1.65E-05
1.82E-05  
3.63E-06 
LM

4
2.29E-05  
2.46E-05  
3.63E-06 
LM

5
2.93E-05  
3.10E-05  
3.63E-06 
LM

6
3.57E-05  
3.74E-05  
3.63E-06 
LM

7
4.19E-05
4.70E-05
1.01E-05
LM and HM

8
5.47E-05
5.98E-05
1.01E-05
LM and HM

9
6.75E-05
7.26E-05
1.01E-05
LM and HM

10
8.03E-05
8.86E-05
1.65E-05 
LM and HM

11
1.01E-04  
1.12E-04  
2.12E-05 
LM and HM

12
1.30E-04  
1.46E-04  
3.06E-05 
LM and HM

13
1.66E-04  
1.83E-04  
3.34E-05 
LM and HM

14
2.10E-04  
2.33E-04  
4.70E-05 
LM and HM

15
2.64E-04  
2.93E-04  
5.66E-05 
LM and HM

16
3.31E-04  
3.71E-04  
7.90E-05 
LM and HM

17
4.15E-04  
4.64E-04  
9.78E-05 
LM and HM

18
5.19E-04  
5.80E-04  
1.22E-04 
LM and HM

19
6.49E-04  
7.28E-04  
1.58E-04 
LM and HM

20
8.12E-04  
9.09E-04  
1.94E-04 
LM and HM

21
1.02E-03  
1.14E-03  
2.46E-04 
LM and HM

22
1.27E-03  
1.43E-03  
3.10E-04 
HM

23
1.59E-03  
1.79E-03  
3.93E-04 
HM

24
2.00E-03  
2.25E-03  
5.02E-04 
HM

25
2.50E-03  
2.82E-03  
6.29E-04 
HM

26
3.14E-03  
3.53E-03  
7.92E-04
HM

27
3.94E-03  
4.44E-03  
9.97E-04
HM 

28
4.94E-03  
5.57E-03  
1.26E-03
HM

29
6.21E-03  
7.00E-03  
1.59E-03
HM

30
7.80E-03  
8.80E-03  
2.00E-03
HM

(nb. All gates has to be shifted -1e-6 sec)
The waveform looks  
Below you find an example of the wave.
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Figur 2 Ramp up at 25 Hz. Blue curve measured. Red curve modelled with an exp function. Current 90 A, decay constant  τ = 336 s-1.
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Figur 17 Ramp down at 25 Hz. Blue curve measured in a pick up coil as dI/dt. Red kurve modelled exp dacay.  Avalance mode from 1,8 µs to  28,5 µs. Exponential mode 28,5 µs to app.. 31 µs. τ = 1,0e6 s-1.
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